DBSCAN/ Density-based spatial clustering of applications with noise)
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KMeans;&

Koy = datasgtg.mage_@oon§(n_5amp|es=300,noise=.05)

kmeans = KMeans(n _clusters=2)

kmeans . fit(X)

plt.scatter (X[ kmears. labels ==0,0],%[kmeans. labels ==0,1],c="red" )

plt.scatter (X[ kmeans. labels ==1,0],X[kmeans. labels ==
plt.showl )
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from sklearn.cluster import DBSCAN
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%,y = datasets.make _moons(n_samples=300,noise=.05])

db = DBSCAN(eps=0.3, )

do . fit(®)
plt.scatter ([ db. labels ==0,0],%[db. labels ==0,1],c="red")
plt.scatter ({db. labels ==1,0],%[db. labels ==1,1].c="blue")
plt.show()
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